BREMHRRETEHIE (FRMS) hik TH6E 12A 128 (K)

Frx
5 g & B & E i = & == ] z B £ B 8
i ® ARE® (M) (M) (M) (ke)
WA 79.2 ERE 79.2 1512 1,404 1,080 13 A LL
IZACA 31.1 E & 16.7 - 2,160 - 10 vay L
IZALA = I 4.7 1,944 1,944 1,836 0] A L
ZIES5 4.1 BRE 0.2 — 4104 — 4f A LL
[E<E0 130.3 BERE 1175 1,620 1,620 648 15 A L
[E<E0LY N 8.7 1,080 864 864 15 va9 8
HTE 2.1 il 1.9 3,024 2,376 1,728 4l A L
ZEDiE 6.7 2 [ 3.9 2,160 1,836 1,836 4 A L
FrRY 128.3 ERE 90.8 - 1,836 - 0] A 8
Fry = I 274 1,836 — 864 10 8
IE5NAZES 35 2 [ 2.1 4,860 3,240 3,240 6] A L
hE 16.7 BRE 9.9 1,836 1,620 1,404 3l A L
hE X & 3.1 1,836 1,404 1,404 3l vay LL
_hE 1.5 = B 1.0 — 3,240 — 3 L
LwA=E< 0.4 E [ 0.1 2,376 — 1,944 3
125 2.9 =l 1.5 5,940 4,860 4,050 5] A M
+)L)— 0.9 2 [ 0.7 3,780 3,780 3,240 0] A M
T RINSGHR 0.1
HhyI757— 0.5 BRE 0.2 — 1,188 — 5/ A 6
JOyal)— 9.9 BRE 3.9 — 2851 — 5/ A M
Joyal)— E 15 0.7 3,888 — 3,132 6
LAR 37.5 £ & 20.1 4,320 4,104 3,564 10 12
LAR 2 [ 6.2 1,944 1,620 1,458 4f A L
FoTHA 1.6 BRE 1.0 2,376 2,160 1,944 4f A L
=Y 25.6 BRE 22.3 2,592 2,268 2,160 5/ A L
=p5Y ElG 3.1 2,700 - 2,484 5] A M
ANESSED) 10.9 A¥LO 5.8 — 3,240 — 10] vay 5
ANESSES) BRE 4.7 — 2,700 — 0] A 8
Y 45 N 4. - 2,916 - 5] vay L
5Y = I 0.2 1,512 - 1,404 5[ A LL
k< 7.8 BRE 3.6 2,808 2484 2,484 4 B M
k< E X 2.9 162 151 140 0.5 7
I=kTh 3.8 BRE 2.7 216 173 173 02 A M
E—<> 11.2 BERE 10.1 8,640 6,480 5,238 10 A
F—<> ] 0.9 4,320 — 4212 5 M
IZH5Y 0.1 kR 0.1 5,054 4471 3,888 5
SPVAITFA 3.1 BRE 3.1 3,564 - 3,240 2l A
SPZAES 1.9 BRE 1.9 — 4320 — Y
MrAL& 26.8 BRE 25.2 2,052 1,836 1512 5/ A L
[ES AT 30.5 £ % 214 — 2916 — 10] vay L
[ES AT JtiEE 8.0 — 1,512 — 10
[ECTRYNS JtiEE - 1,512 — 0] A L
=L 3.0 BRE 3.0 3,240 3,240 2,700 5
AL 45 JtigE 44 — 3,942 — 10 vay LL
f=Fh&E 86.0 JtiEE 75.2 3,456 - 3,240 20 A L4 (
f=FhE JeiEE - 2,484 - 15
ELLV=T 2.1 BRE 0.1 — 119 — 0.1 M
HELLV=IT =l 0.9 162 162 151 0.1 A M
ZDEET 5.8 K & 3.1 65 65 59 0.1 A
ZDEET BRE 0.6 — 52 — 0.1 A
LHL 3.6 2 [ 2.6 119 119 108 0.2
ESES T 696.5
B=
5 g & B & E i = & == I -] =7 & £ B 8
o ® ARE® (M) (M) (M) (ke)
BMAHMAEE 34.0
B4R 34.0 Z A0 9.4 — 2,592 — 10f L
B4R ol | - 3,348 — 10f M
B4R ol | - 3,348 — 10f S
A B M B X 7.9 4644 4,644 3,240 10 L
A B M B X 5,940 4,860 4,320 10 M
A B M B X 5,832 5,292 5,184 10 S
B 4.0 BRE 4.0 5,724 5,400 4,860 5| 7hva L
LEY 2.0 £ B 0.7 - 1,620 - 10 719
INLUVT 2.6 = M 2.6 8,316 5,400 5,400 17 88
L7y 0.5 = I 0.5 6,264 6,264 6,156 15 48
EADA 0.4 =l 0.1 - 302 — 025] A LL
Lo 3.7 BRE 3.6 5,400 4320 4320 3l A 4L
HmohrAED 6.6 ERE 4.4 1,836 — 1,620 4] B 3L
YATE 14.8
23 F3ILK 0.7 "5 & 0.7 6,480 — 6,048 10[ MA 46
AL 11.9 £ B 7.8 4860 4,536 4,104 10l vay 28
T 1.7 "5 & 1.7 6,264 5,940 5,400 10]  MA
ZTDMYAZ 0.4 E % 0.2 6,048 — 4,968 10| M2 46
FEEAL 2.3 W 2.3 3,780 2916 2,722 5
WEET 17.6
=5 16.8 2 [ 16.8 4104 1,620 1,620 0] ¢ L
ZTDHMENE 0.8 E IE 0.8 2,700 2,376 2,160 10] <l 3L
W5 2.0 BRE 1.3 864 594 594 025 A LL
AOVEF 3.9
7—ILA 3.7 RS 25 - 2,700 — 5] vay LL
ZRAOY 0.1 BE A 0.1 — 2376 — 5 van 5
FULIAEE
ERAYAD B K - 3,024 — 6] a1y LL
INFF 13.4 EYEY 13.2 5,465 3,694 3,283 15
NAFyFTIL 43 EYEY 4.3 3,564 3,024 2,700 10 8
FoA4T)LY 3.2 —T 1.0 2,592 2,484 2,268 4 33
BERE 120.3




